
q 

~ 

9/1(--' Ie'- V:, V ~J 4> ~ 0.6.5~ 
~cY~V:> ~ ~~ <Y' sZ:V-- 4ca.u..se<L 

~ v, 'r~ dd. ·~-v::J?V~ ~ ~ 
® ~ ~ flc't/ ~fJc7~ ~~DuL , 

&~/ ~~r-6~J~6~ 
..so ~u~ ~~ ~ ~ ,lAf. c.o~ .o/L­

19 
~ = l0f'c =. 3 ·o9x/O eM­

3 3J :; 10 II a..1oM/J ~ CM 

3 
V~ ~ ~ rrf( f = fr7/V 

_21 _3 ( ''I 'f 3
IlJ =- y . V -- t · b7><10 J CHI • ~ Tr 3.D? -<.10 ) . CM 

:3 
3~ 

- :<'-0(, x/O S . 



~'T 

= _ s-/ x. 10 

-16
38 

(. 38"x./0 ~/K. 10 K.2. >Co 10 y? 
-2l+

/ -b7)C. (0 J 

100 :>< 

= cLP ::: == L 
c... 

3-'<./0 10 ~ 

<5" 
~ /)( /0 ~J-~ 2. f" "J~ 

~ 3 ~ 
_0 2. z.. I... 3)

6.(7)( 10 &'" c-<.J-. 0 ·/0 xfOJ . 
( 100 x ~ b · 96 )( 10 '0 eM..)<­



6.Q2J- (a) The shortest path is 2(0.1 R) = 0.2 R 

The longest path is 2x, where x is the short side of a 
right triangle where the other sides are Rand 0.9R ;

2so x = R2 - (0.9R? ; x = .44 R; 2x = 0.88 R. 


Ratio of longest to shortest is 4.4 


(b) Longest path con-esponds to more emission, so 
nebulae appear as circular shells. 
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